
MRB3-M
MRB3 Controller Cage Clamp

!
Please read and understand 
these instructions completely 
before installation to avoid 
possible injury, or damage to 
the accessory or vehicle. 

WARRANTY INFORMATION:
All SSV Works Electronics are covered by a 
limited 1 year warranty against defects in 
material or workmanship. Labor for replacement 
of defective components is not covered. Contact 
SSV Works for further warranty information.

TOOLS LIST - 5mm Allen Key - Small Phillips Screwdriver

SSV WORKS, 201 N. Rice Ave Unit A, Oxnard, CA 93030     |     www.SSVworks.com     |     Phone: 818-991-1778

MRB3 Housing

M6 Allen Screws 
and Washers x2

M3 x 8mm Screws x2

Ring Clamps x2
Available in:
  - 1.5”
  - 1.75”
  - 1.85”
  - 2”

NOTE: MRB3 CONTROLLER SOLD SEPARATELY
© 2018 SSV Works, Oxnard, CA 93030     MRB3-M     Rev. A     6-21-18

A. Place both ring mounting clamps on the cage using the plastic bag to prevent scratching

B. Place the MRB3 housing in its final mounting 
location and secure to the clamps using 
the two (2) M6 allen socket head bolts and 
washers with a 5mm allen key.

E. Secure the MRB3 to the housing using the 
two (2) M3 screws provided.  
(MRB3 sold separately)

D. Feed the MRB3 cable through the housing. 
(MRB3 sold separately)

A1 A2

C

E

D


